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PART—I / am—I
CHILD DEVELOPMENT AND PEDAGOGY / @t faser 3ftt fovedt-71ma

Directions : Answer the following questions

by selecting the correct/most appropriate
options.
1. Most classrooms in India are

4.

P-1/1

multilingual and this needs to be
seen as __ by the teacher.

(1) a problem

(2) a resource

(3) an obstacle

(4) a bother

Mistakes and

students

(1) are indicative of the failure of
the teacher and the students

(2) should be seen as opportunities
to understand their thinking

(3) should be severely dealt with
(4) are a wonderful opportunity to

errors made by

label children as ‘weak’ or
‘outstanding’
views children as active

builders of knowledge and little
scientists who construct their own
theories of the world.

(1) Pavlov

(2) Jung

(3) Piaget

(4) Skinner

Child-centred pedagogy means

(1) asking the children to follow
and imitate the teacher

(2) giving primacy to children's
voices and their active participa-
tion

(3) letting the children be totally
free

(4) giving moral education to the
children

yut % 3wt )

1.

wiea # sy FaT zﬁhrrrﬁ“wﬁ% £
) fowe g % &9 H @ S

e

(1) @wen
(2) "aMA
(3) =

(4) o

fvamfift g ) ¢ et st gfeaf

(1) foes sfn foenffat 1 smweaa #
qo §

(2) Tk T4 B w9 F 9T F =9 H
3t FH =R

(3) F3ran § Fyerd e =nfen

(4) == F FEA v ‘Iepe’ fafxa
A F = HTH §

% fwm 4 == ufkw 9m-fmb
A TE oG €, N wER ¥ AN § gy
gt ) w1 =@ #)

(1) Yaerra
(2) ¥ (Jung)
(3) T=
(4) f&w

A -hixa Fren-wre o aref 2

(1) aﬁiaﬂﬁmma@mmw
F % forg =

(@ 7= B s N wH R
wrferd #t wew 3

(3) ==t A ol w9 A T 3y
(4) ==t = W ey 3y
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s.mvlﬁﬁaﬁ’inﬁaﬁuﬂmﬁfﬂm

A teacher can help the children to
T AR L EEA %

process a complex situation by

(1) ?Té\hmmmamfmﬁmﬂ

(1) mnot offering any help at all so0
. faae wrn d

that children learn to help on
their own

(2) T@ T UH W ot

(3) mﬁﬁ'itﬁ\%ﬁﬁﬁaﬁzﬁ'ﬁmﬁ%ﬂ

[

(2) giving a lecture on it

(3) breaking the task into smaller
parts and writing down instruc-
tions

@) uﬁﬁﬁmﬁmwﬁvuﬂﬁa

(4) encouraging competition and K - 3
T g0 FA A T T T T

offering a high reward to the
child who completes the task

first
6. mmﬁﬁﬁﬂaﬁmmﬁ%mﬂ

ﬂmﬁgzwm%ﬁﬁawﬁﬁﬁ
=3 Tew T ?

(1) @mwgﬁﬁ%
(2) Wﬁ%,ﬁﬁwﬁﬁ A R

Expecting students to reproduce
knowledge in the same way as it is

received

effective assessment

(1) is an
strategy
e @ AR TE R A --
(2) 1is problematic, because indivi- ?,mﬁaqﬁm
duals interpret experiences and
do not reproduce knowledge as (3) = %, FNh R oft TR W R R
3% fts 70 AW

it is received

(4)3:@%,%%&‘%%5%‘1

(3) is good, since We record
SheH o @ R

everything as it is in our brains

(4) is good, since it is easy for the
teacher to assess

7 ﬁaﬁtﬁﬁiﬁ@mﬁﬁé«’tmm?ﬁﬁ
# FEw R@ W@ R, W g

When students are given an
opportunity to discuss & problem in 1
groups, their learning curve
(1) for R

(1) remains stable

: (2) T T ¥
(2) declines
(3) remains the same (3) T & %

(4) FER TR

(4) becomes better
[ P
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AN VR 7 AV BN VA WA B PR R IR

- L4l
e @ ga 3
. 8. fawm@ & mfd o T3 AT
8. The pace of development varies g T8 | —
from one individual to another, but 2,
it follows pattern. Tt d
(1) a haphazard (1) aAfer
(2) an unpredictable 2) ey
3 tial
(3) a sequential and orderly (3) FUAE +Ar Frafead
(4) a toe-to-head
(4) wd-4-9d
9. Which one of the following is correct ’ et -|1 UF
about development? 9. fm % fe LA
(1) ‘Sociocultural context’ plays an ¥ 5 famTd
important role in development. (1) ‘Wnﬁaﬁ'mﬁ% a R
el iR @ Frate F R
(2) Development is unidimensional.
gt 21
(3) Development is discrete. (2) fomwra T ¢
(4) Development begins and ends at (3) fawma 9% akd

o @) R S % @ s g ¥ e

waTH g 2
10. Why do individuals differ from one

another?

- it B 7
(1) Due to the inborn charac- 10. =Rl ¥ TH-gae ¥ P et

Bkinkes (1) =rera Fvwaredt % o

(2) Due to the interplay between
heredity and environment

(2) duged M FEEm F A

o U
(3) Because each individual has ~
received a different gene set (3) Wk =afts @ 3a wn-faar & S
from his/her parents 1 T Tg=r Jw BN % H
(4) Because of the impact of the (4) TSN H YW F BRI
environment
. ‘ 11. 9= ¥ gumiEE § gfEn C\LED
11. Family plays _ role in A 21
socialization of the child.
(1) an exciting (1) i
(2) a primary (2) T=
(3) a secondary (3) oy
(4) a not-so-important (4) WW

P-1/1 4
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12. Which one of the following is a

13.

correctly matched pair?

(1) Formal operational child—
Imitation begins, imaginary play

(2) Infancy—Applies logic and

12. frefafea § @ #¥9-w v @@ e aren
SireT 87
(1) 3= wfFarcas a=n—
Wm,mt&a

) v —ad F1 FAFIE 3N

is able to infer
A T AEH
(3) Pre-operational child— PrreTedes R
Deductive thought (3) R F=— ¢
(4) Concrete operational child—Is (4) T WA T=—
FuTr Td Fffeter A A

able to conserve and classify

A child says, “Clothes dry faster in
the sun.” She is showing an
understanding of

13. & S wEd ¢, YT § FAQ edl YW
S g SR o anm H MR

@ R

(1) egocentric thinking
(2) cause and effect (1) st foem
(3) reversible thinking (2) ST - T
(4) symbolic thought (3) Tawia faem
14. According to Piaget, children’s (3) TR R
thinking differs in from adults
than in 14. ™ ¥ ogEw, s= & fed T q
(1) size; correctness ___#fmam dasE
(2) kind; amount (1) STEHR; HAoHl
(3) size; type (2) WHI; HEAT
(4) amount; kind (3) 3HR; forer
15. Which one of the following is an (] SHIEG VS

P-1/1

example of scaffolding?

(1) Giving motivational lectures to
students

(2) Offering explanations without
encouraging questioning

(3) Offering both material and
non-material rewards

(4) Giving prompts and cues, and

asking questions at critical
junctures

15. frafifaa & @ F9-1 T MU FEEd
1 JGTEW =7

(1) Rrenfet =t Yea F R e

2) Y@ B H sgEar Ry fen
TN

(3) 7 3R 3nqd A FHER F IR A

(4) AR IR Hehd I AU AIH
feufrat = w g

[ P.T.O.
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16. According to Vygotsky, children

learn

(1) by maturation

(2) by imitation

(3) by interacting with adults and
peers

(4) when reinforcement is offered

17. Kohlberg has given
(1) the stages of physical develop-
ment
(2) the stages of emotional develop-
ment
(3) the stages of moral development

(4) the stages of cognitive develop-
ment

18. Which one of the following
situations is illustrative of a

child-centred classroom?

(1) A class in which the textbook
is the only resource the teacher
refers to

(2) A class in which the students
are sitting in groups and the
teacher takes turns to go to
each group

(3) A class in which the behaviour

of students is governed by the
rewards and punishments the

teacher would give them

(4) A class in which the teacher
dictates and the students are
asked to memorize the notes

19. Intelligence is
(1) a singular and generic concept
(2) the ability to imitate others
(3) a specific ability

(4) a set of capabilities

P-1/1

canned by @aemrgcanner

. Frefafaa =
o mm—aﬁaﬁmﬁ?ﬂmr‘aﬁ’é?

mmﬁ?ﬁm‘ww
0 o dm % for wd R
IR

2) wﬁmﬁrﬁﬁw&ﬁﬁ‘@ﬁ%‘%%
o R an@-and ¥ T W A

EIRGRS

(3) wH s frd a1 SRR
fufieer T R ST A gEER 3
<z A gaTed qat @

(@) T e et fafe e foen @ R
i il § 3% IR FE B
Einild

19. s
(1) T Tehet 3R R fo=m

(2) TEY ¥ HT FA Y Aral
(3) T fafe g
(@) T T A
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20. Early childhood is period for
language development.

(1) an unimportant

(2) a sensitive
(3) a neutral
(4) a not-so-significant
21. A teacher remarks in a co-education

class to boys, “Be boys and don't
behave like girls.” This remark

(1) is a good example of dealing
with boys and girls

(2) reflects stereotypical behaviour
of discrimination between boys

and girls

(3) highlights the biological superi-
ority of boys over girls

(4) reflects caste discrimination

22. Assessment

(1) should actively promote com-
petitive spirit among children

(2) should generate tension and
stress to ensure learning

(3) is a way to improve learning

(4) is a good strategy to label and
categorize children

23. Which one of the following
statements best describes
Inclusion’?

(1) It is the belief that some
children cannot learn at all.

(2) It is the philosophy that all
children have a right to get
equal education in a regular
school system.

(3) It is the philosophy that special
children are ‘a special gift
of God’.

(4) It is the belief that children need
to be segregated according to
their abilities.

P-1/1
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20.

21.

22.

23.

w1 fem # fau wifes =H _—

Fd ¢

(1) =g

(2) wfergaEeie

3) faa

(4) FA AL

w wefen wa & we § fes T8 e

2, ‘‘TEF A sy wefral S| EER 7

w01 g feuofi

(1) ek-agfeal % @9 =aer F TP
=01 ISR B

(2) weF-metr § de-wm f EleTe
TN WEE HAT 8

(3) wrefRi W aeH R SAEATE TE
F) IR FAT B

(4) T Ve~ W IHEE ?

THT
(1) ==t § wfedfdreees wE S |
9 A FgraT oAl 8

(2) ¥ = ghfrm =0 & fag &=
3R T=E I IAT FAT B

(3) drEd T Gur 1 T T{H 2

@) F= B wEd B (AW T) A
iffehd oA Y 3=t WA

fafafaa & @ FH-T1 6 F9F THEIH

1 Gal 3T=BT IV FHaT 87

(1) 78 & favam @ 6 3o == =l 9
e & 7w |

(2) % & <9 ¢ T wft a=i = Frafa
e woeh ® wwE Ren W FH
&1 TSR 2|

(3) %8 Th ¥ ¢ T fomm == T &
o 3wEr’ )

4) T ™ fqmmm ¢ & s=1 & o
Il & FAFEAR Aem foea S
=R |
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the children from
background, a

24. To cater to
‘disadvantaged ,
teacher should

(1) try to find out more about them
and involve them in class
discussions

(2) make them sit Separately in the
class

(3) ignore them as they cannot
Interact with other students

(4) give them a lot of written work

25. Which one of the following
bt'ahaviours is an identifier of a child
with learning disability?

(1) Abusive behaviour

(2) Writing b’ as ‘d’, ‘was’ as ‘saw’,
21" an *I¥

(3) Low attention span and high
physical activity

(4) Frequent mood swings

26. A child who can see partially

(1) should not be given education,
since it is not of any use to him

(2) needs to be put in a separate
institution

(3) should be put in a ‘egular’
school while making special
provisions

(4) should be put in a ‘regular’
special

school with no
provisions
27. Learning
(1) has very little connection with
emotions
(2) is independent of a learner’s
emotions
(3) is influenced by a learner’s
emotions
(4) is not affected by a learner’s
emotions

I/1

24.

25.

26.

27.

(2) =& e 7 s FRT

3) mmmq%mﬁﬁa@ﬁ“
3 @y afa-fea TE A wH

(@) ¥ Tga-an ferem T 2

frafeflgg § @ SR-81 FAER T H

s1fpT-Fteran = gg= e 87

(1) SAYHSHS TGN |

2 b = ‘d’, ‘was’ @l ‘saw’, 21
‘12’ foe

(3) F9 IFEYH-TaER iR 3= T
fefafe

(4) TAME W1 STeal-Siedl  SEeT (T8
)

s T S A €9 A TG FHAT @

(llﬁﬁm%ﬁﬁaﬁq,mﬁﬁﬁag
3o Tl pm 7 et

(2) 3/ Fem wYH ¥ IR A
JTEYIRAT &

(3) o yaa= FA T« es “Erfera’
Toreme &% @ =Ry

(@) for et ford e % 3@ “Frfi’
foramer & <@ =TT

g

(1) Hait & affor Heig wEan R

(2) @R Tt F wam A w3

(3) drE Tt % gami ¥y dren

(4) ¥FEm I F G A wrfaa A&
FraT 3
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28. To enable students to
conceptual changes in
thinking, a teacher should

make
their

(1) discourage children from thinking
on their own and ask them to
just listen to her and follow that

(2) offer an explanation in a lecture

mode

(3) make clear and convincing
explanations and have discus-

sions with the students

—

offer rewards for children who
change their thinking

(4)

29, In the context of a primary school
classroom, what does active
engagement mean?

(1) Imitating and Copying the
teacher

(2) Enquiry, Questioning and
Debate

(3) Copying answers given by the

teacher

(4) Memorizing, Recall and Reciting

30. Children are most creative when
they participate in an activity

(1) under stress to do well in front
of others

(2) out of interest
(3)

(4)

for rewards

to escape their teacher’s

28. o7 Fya ¥ TEURUTNE UREdT TH &g
Rranfet 2 qem == ¥ Ry fafiwm =

(1)aa’iaﬁwﬁfémmﬁ%%ﬂ.

Ty wen =R IR T FE
=ifee, 6 3 Rifeem @ g ofm 38

IR Wt

(2) A F ® # FEm WA
FE =Y

(3) TE 3 IvEE wA Ae AR o
afgy, @ el % ww ==
FE =R

(4) I w= B TESR TN AR R
o foaw o ofEadw T R

29. Wufs Rl ¥ FE-HE F W |
afpTaea & & o R?
(1) Teres o T S Tohe A

(2) Sfa-vgaE wW, W EH AW
ELERECIG

3) T g fau o Iw N RSl N
(4) T& FEAT, Feare R g

30. ¥= @9 waiU® ol B T, 9= o
et nferfafer o v o

(1) T % ¥R I FE F @
A e

(2) 3 v A
(3) JwhR % fou
@) e <l d = ¥ R

scolding

P-1/1
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PART—II / wr—II
MATHEMATICS / 7o/

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

According to the NCF, 2005, which
one of the following is not a major
aim of Mathematics education in
primary schools?

31.

(1) To relate Mathematics to the
child’s context

enhance problem-solving

(2) To
skills

(3) To prepare for higher education
in Mathematics

(4) To mathematize the child’s

thought process

32. Which one of the following should
be the most important feature of
Mathematics textbooks at primary

level?

(1) Concepts should be presented
from complex to simple.

(2) Concepts should be presented
in a strict hierarchical manner.

(3) Concepts should be presented
from concrete to abstract.

(4) Concepts should be linked to
higher classes.

Adyr : wht/TER IIg® fored TR

gt ¥ 3w AR

. m m (‘q:{o 'Eﬁo Q‘Fo)‘

> 2?35 3 argew, e e R

TR F1 I W
gt 27

(1) F= ¥ sl & i 1 A B
) - & e =
(3) TR i T TGS N L F
(@ == H de-fEr s o

w9 T

i WX W TRE Y qiea-gEe ol
mmm@ﬁmmﬁ

FA-H 27

(1) Sheaaelt ® wfew ¥ wWa ¥ A
weRfa fFa s =R

(2) Gheaialt @ gofaan Svfiager ¥ wgd
foran s =nfgwy

(3) THCTAA W YW W FQ ¥ W WA
o s =R

32.

(4) FHEAIA F ITW FESA ¥ Faw
SIS

SPACE FOR ROUGH WORK / % %1 ¥ fofu sy
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33. Which one of the following
represents the correct sequence of
development of geometrical under-

standing?

Visualization, analysis, informal
deduction, formal deduction

(1)

33. =i onw & fERm s@ % R
Ar=ferfaa # ¥ FA-w AoiwA @ 87

(1) "R oo, e, sHoETiE
A, it e

(2) ofenfer fmm, et B,

(2) Formal deduction, informal Ry e, frveo

deduction, visualization, analysis

(3) weRes o, feciwo, o

(3) Visualization, analysis, formal frmm, TR Fme

deduction, informal deduction
S L ———— 4) "mReR R, efwethe R,
(4) Visu {zat%on, orm e ulctmn, Rrgau, s S

analysis, informal deduction

34. Which one of the following 34. frferfaa # & FH-w1 wo wd 27
statements is true?
(1) T oF fen awa Y S aiEd

(1) Zero should be introduced at e st =nfra)

the time of teaching place value.

(2) UG W aIt WoH TN I B

(2) Zero should be the first numeral arfu)

to be taught.
(3) Zero should be introduced after (3) == § e g ol B % R

children develop number sense. A 1 wieEE fean s aniRe
(4) Zero should be introduced after (4) €A 9 F 1% Y 1 IR fn s

number 9. i\

SPACE FOR ROUGH WORK / % &M % foig wime
P-1/1 11 [ P.T.O.
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35. A

36.

J

1

teacher plans the following
activities to introduce the concept of
‘half’ to Class III students :

A. Shows
‘half’

pictures representing

Writes symbol for ‘half’

Dividqs many types of concrete
materials into ‘halves’

D. Uses story or words to represent

‘half’

Which one of the following is the
correct sequence of the activities
that the teacher needs to follow?

() C, D, A B

(2) A, B, C, D
(3) B, A C, D

(4) C,A D, B

Which one of the following is true
about teaching and learning of
Mathematics in Class I and II?

(1) Only oral Mathematics problems
should be done ir: Class I and II.

(2) Mathematics should be inte-
grated with other subjects like

language, art, etc.

(3) Mathematics should not be

taught in Class I and II.

(4) Lots of opportunities for practice
should be provided.

36.

a'.mn[%ﬁarfémmg:?

1 qf=a A F feu  EA® frefetaa

A faa frEal 2, fai ‘Al T
fm T 2

B. iy’ = Fa T 2

. azanﬁqﬁqmﬁ, arjr‘zqm’ﬁﬁmﬁa.

jis A mm:mﬁ%aﬁmﬁ‘wn’uzﬁ'ﬁ
F7A1 2

ﬁnmaﬁtﬁﬁﬁaﬁaﬁﬁizm-ﬂ
-m i iR AgE A e

(1) C,D, A B

(2) A, C,D

B,
(3) B,A C, D
A, D, B

4 C,

F41 1 A 11 F v faem @i Afem F

fom frafafaa § & F=-1 99 27

(1) Fa 1 3w 11 & Faa o F Aias
proifeate T i i i L

(2) oA #=1 w1 faugt | fF v, Fen
TeTfe | THTEE A AT =TTEn |

(3) e 1 3 I ¥ nfod F& 9grn S
L

P-1/1
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37. If 1001x111=110000+11x 5

then the number in the blank
space is

(1) 211

(2) 101

iy

3) 111

4) 121

38. If (the place value of 5 in 15201)
+ (the place value of 6 in 2659)
=7x
then the number in the
space is

blank

(1) 900

B |

(2) 80

(3) 800

(4) 90

37. IR 1001x111=110000+11x
?, < T T A dEm 2

(1) 211
(2) 101
(3) 111
4) 121
38. AR (15201 # 5 =1 Torig 7W)

+ (2659 ¥ 6 =1 THE TH)
=T7x

?, 0 Tk @ ¥ wen R

(1) 900

(2) 80

(3) 800

(4) 90

SPACE FOR ROUGH WORK / % %1 % fu s

P-1/1
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39. If (the product of the common

40.

positive factors of 36 and

P 48

;}i?:‘i+ 9 x ; » then the numbel
will come j

space is B ek

(1) 90

(2) 9

3) 27

(4) 81

If the difference of remainders
obtained on dividing 26679 by 39
and 29405 by 34, js divided by 18
then the remainder will be ’

39, aR (36 s 48 ¥ T WA TTIAS
a1 ) = 999+9% & @ fw
= & g gt

(1) 90
2 9
(3) 27

(4) 81

40. 3R 26679 H 39 ¥V WA T W Gl
20405 F 34 ¥ WAT 3 I IH AHEAT &

AW F 18 ¥ wr Far g, @ TNEA B

(1) 9 (1) 9
2 3 () 3
(3) 5 3) 5
(4) 8 4) 8
SPACE FOR ROUGH WORK / T %W % fu s
P-1/1 14
https.//g\é\évrwégrgys@aemrgcr;%\]/gfcom/prewous-year-questlon—papers/



41. (36, 54 3 60 % HEE IR WHE TH)

41. (The smallest common multiple of
36, 54 and 60) + 90 is equal to +90 AL 2
(1) 12 (1) 12
(2) 5 (2 S
(3) 6 (3) 6
(4) 10 (4) 10
42. Sonu has five dozen toffees. He gave | 42. B & Td uf &= 2Afhal &) 36 T
3 of these to Amita, £ of these to Anil L am e =, —% s afe = eiR
and {5 of these to Hamida. The & W g % fEn W o s
number of toffees left with Sonu is ZitRat & 9= ®
(1) 11 (1) 11
(2) 5 (2) 5
() 3) 7
4) 8 (4) 9
SPACE FOR ROUGH WORK / T %M % fu smr
P-1/1 15
t P35
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LA VY SR '}

+ 12 &R
/ 43. If 112 ones + 12 thousands 43. R 112‘“{ =11012+ Gl
/ _-/ =11012+ tens o 2
/ then the number in the blank ?, 1 i o &
Space is
112
(1) 112 )
(2) 101 (2) B
(3) 110 o L
@) 111 (4) 111
1] i
44. 51 litre and 750 millilitre of milk is | 44. T & (W) H 23 a:frsil | ¥
filled in 23 bottles, each of the same iR 750 fafeie 3@ T
size. The quantity of milk in 16 such 16 At & gy 6 7 ?
bottles is

1) 37 s 3tk 600 Fferefe
(1) 37 litre and 600 millilitre 4

(2) 34 litte and 400 millilitre (2) 34 iz 3l 400 fferefiet

(3) 35 litre (3) 35w
(4) 36 litre (4) 36 i
SPACE FOR ROUGH WORK / 1% %M & f&u we
P-1/1 16
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45. A distance of ) centimetre on a | 46. frft waf w ) i A g, ufn
map represents 200 kilometre on 200 framfiz f1 70 | ﬁ"*“f'm wrdh B
the ground. If two cities are af2 yfy @ A T 1800 fapemdrzn #1 gh
1800 kilometre apart on the wt fiea 8, @ wfam = 7= i #rfl
ground, then their distance on
the map will be

(1) =0 e
(1) nine centimetre
(2) three and a half centimetre (2) wrg d dphe
(3) four and a half centimetre (3) @13 =w Ay
(4) six centimetre
(4) B: #rfim

46. Which one of the following is not

correct?
a6. Frafafaa §  F-w v 79t 27

(1) One millilitre is one-hundredth

of one litre. (I)Uﬁ?ﬁﬁ frex, o et e
(2) One lakh is equal to one

hundred thousand. (2) T @rE T 3w W TH
(3) One crore is equal to one

hundred lakh. (3) T HUT TR } T € A F
(4) One centimetre is  one- .

hundredth of one metre. (4) Th TR, T T F A

SPACE FOR ROUGH WORK / % #H & fu sme

17 | P.T.O.
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47. A cuboidal box is 13 cm long, 11 cm m 1 &
broad and 9 cm high. A cubical box f 3 9 C%I ag # zawt # 1 cm I
has side 12 cm. Tanu wants to pack (b ¥ BT wreedt 31
3060 cubes of side 1cm in these art 3060 ¥ wqgigﬁqﬁﬁ, ?
boxes. The number of the cubes left % ge, S
unpacked in these boxes is
(1) 45 (1) 45
(2) 15 (2} 15 )
(3) 28 (3) 28
(4) 30 (4) 30 b
48. The length and breadth of a Pt otEd W TS @ eré s
rectangle are 48 cm and 21 cm b 3 21 cm 2l fopelt at B S
respectively.  The side of a square A EIERE A-frerd R i
is two-thirds the length of the T AR ;) =1 9 2
rectangle. The sum of their areas (in PR (a-'f cm )
square cm) is
(1) 2123
(1) 2123
(2) 2028 (2) 2028
(3) 2030 (3) 2030
(4) 2032 (4) 2032
49. The product 672x36 x25 equals 49, AT 672 x 36 X 25 T
(1) the number of seconds in 1 week ' (1) 1 GeTE & Tehel hl TE& ’
: . :
(2) the number of minutes in A=
i (2) 7 TuTEl § e & "
(3) the number of hours in 60 days (3) 60 Tt & =&t < W
(4) the number of seconds in 5 days (4) 5 Tt & aehst Y@=
SPACE FOR ROUGH WORK / % %™ % fq s
P-1/1 18
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50. When fresh fish is dried, it becomes | 50. & aEn WSk @ g A@ B, @

one-third its weight. Savi bought
i IF UR vw-faerd w® w21 wrh
5709 kg of fresh fish at the rate of I 2700 kgarn Twelt € 27 uf kg
27 per kg and, when dried, she f = W gﬂ;ﬁ 3R 3R gEm ¥ avEmE
sold thf:m at 975 per kg. She ey ‘
€arned in all (97.5gﬁ(kgzﬁ|?{(mﬁﬁlm§ﬁ
g
(1) ¥ 158745
(1) *158745
09-5
89-5

(4) € 148995
(4) ¥ 148995

S1. Juhi travelled a distance of 16 km - o
by bicycle at the speed of 15 km per S1. <@ 3 A A5 S g

hour, 20 km by scooter at the speed 15km 3fd Ja1 A = ff” i e
of 50 km per hour and 50 km by car 20 km R 3 50 km ¥ w1 R =@ F
at the speed of 60 km per hour. The R FR T 50 km H ' 60 km fa
total time (in minutes) to travel 2 H T W T R g B S
these distances was # @ ga i (B ) on

(1) 138 (1) 138

(2) 88 (2) 88

(3) 114 3) 114

4) 144 (4) 144

SPACE FOR ROUGH WORK / 1% &M & f¥u we

P-1/1 19 [ P.T.O.
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52. Which one of the following is
prerequisite to understand decimal
representation of a number?

(1) Subtraction
(2) Place value
(3) Multiplication

(4) Addition

§$3. The four fundamental operations in
arithmetic are :

(1) calculation, computation,
construction and forming
equation

(2) addition, multiplication,
converting fractions into

decimals and construction of
regular shapes

(3) addition, subtraction, multi-

plication and division

(4) addition, division, finding peri-
meter and area

. ﬁgqmmﬂ%m
52. @W?@‘”m' _Fﬁqj-aﬁairﬁﬂm

g e

(1) o

(2) T AR
(3) Tom

(4) I

53. i S =R Yed 9k €

(1) wfwed, @oE, wNoFAE 3R
FHfteRToT ST

(2) 9, 1on, PE N cewes ® SEe
3R W aTERfEl H A HE

(3) AN, e, TN IR W

(4) T, AT, T 3R SEwe T S

SPACE FOR ROUGH WORK / % %™ % ffu wme

P-1/1 20
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54. A teacher is teaching ‘addition’ to
Class II students. Which one of
the following is the most suitable
strategy to follow?

(1) Word problems should be

used only for the purpose of
assessment.

(2) Addition should be introduced
through word problems.

(3) Word problems should be done
at the end of the chapter.

(4) Word problems should not be
done in Class II.

55. A teacher of Class II gives the
following word problem on ‘addition’
to students to solve :

“A basket contains 5 apples and
7 more apples are added to it. How
many apples are now there in the
basket?”

54, man 1 3 e B owh s A
(<) Rran @ %1 P # @ A

I # aqgarwuaﬁﬁmwg,‘vﬁ%?

(1) TR S S e e 8
£ < =1e)

(2) A (Sg) B wfRE W T WA
T AT

3) EE YE F AAE I H H
1 AR

(@) wan 1 A wiE FE B A FO
e

s5. @@l 1 % Wem 1 Am (Se) &
Srffaa e v @ FrafdE ® e
F ¥ & :
“qmzﬁaﬁﬂﬁsﬁa’éqé:mﬁ?%aam
<1 fw o) o/ A § fee ¥ #Y

—r. . k. RE

This type of word problem belongs ot & W 37
to which of the following models/ o wieat/ t
categories?
(1) gYURR
(1) Segregation
2) ¥ gRR
(2) Repeéted addition
3) =
(3) Aggregation 3)
(4) Augmentation (4) T

SPACE FOR ROUGH WORK / T% %M ¥ fou e

P_III 21 | P.T.O.
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56.

“Errors Play an important role in
Mathematics.” This statement is

(1) false, as errors
carclessness

indicate

(2) true, as they pgive ideas
about how children construct
Mathematics concepts

(3) true, as they give feedback to
students about their marks

(4) false, as there is no scope of
errors in Mathematics

57. Which one of the following teaching-

learning materials (TLM) is best
suited to explain * 15 is greater than

i'éﬁl to Class IV students?

(1) Number chart
(2) Abacus
(3) 10x10 Square grid

(4) Dienes block

56.

57. =@ IV ¥ faofddi =1 9973 & f&m +

v § i F TF TR e 2
mFAL

(1) TT=A, FIE 29 argE] el €

(2) ®A@, FE 7 =g = 2 1w a4
A F1 wEuren 1 e TR =
F9 2

-

(3) @A, wHiF 7 fFada =1 == T
F AN G EEF A2

(4) e, FEIE AR T3S s =
T2

)

™
b 1o 9 79 ¢, Fefafad 3 & Fa-4
frm-afem amd (8o tee wo) TEEE

39T &7

(1) & =i
(2) fram (T5a)
(3) 10x10 Fmizd firg

(4) =39 =w

P-1/1
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58. Which one of the following is best 58. =1 71 TOH Atuw @1 fFwma =wEn ﬂ’iﬁ

suited for comparison of sizes 2 ~ PG S -
(grcas) of two or more two- ;{:ﬁ%“'__ﬂf”)’ EQB Ll ?:_‘4 F fom
dimensional objects? e i § 4 A-W T FEIE YT
27
(1) Estimation
(1) #ATFRAR
(2) Observation 4
(2) J4m
: (3) Superposition N
’ . (3) AR
(4) Using non-standard units - %
(4) ASTHIOTE THTEA F T

59. ‘Mathematics puzzles’ at primary .
level help in 59. wafs = W ‘@ A wEeE @

Fdl 2
(1) providing fun to students
(1) Taenfdat 1w T=H FA 0
(2) testing problem-solving skills
(2) wEEn gEHA F F1 9@ d
(3) promoting problem-solving skills
(3) ®EEm gAEE F A W TreaTEd
(4) identifying brilliant students of FA T
the class
(4) e 3 sfawrees T 1 TEER
g

60. Mathematical communication refers
to

60. TR TRl 5@ FAl B

(1) ability to solve problems
(1) G F g Hi &

(2) skills to participate in

ti i - "
Mathematics quiz 2) 3 & A
(3) ability to speak in Mathematics -

) classroom (3) TIPE & FAI-FAH ATe 61 fHal

(4)nﬁtﬁqﬁaﬁa§1wﬁaaﬁtm

(4) ability to consolidate and y
organize mathematical thinking FA F HA

SPACE FOR ROUGH WORK / T® 4 & fou 8

D_T1/7 24 [ P.T.O.
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PART—III / w—III

areaad
ENVIRONMENTAL STUDIES / el

Directions : Answer the following questions
by selecting the correct/most appropriate
options,

61. A Class

62.

63.

P-1/1

V  teacher takes an
aluminium foil and puts it in water
and shows that it floats. She then
crumples and squeezes the foil
tightly and puts it in water again
and shows to the students that it
sinks. She then asks the students to
think and give reasons why they
think this has happened. Which one
of the following process skills will be
used in answering this question?
(1) Classifying
(2) Observing
(3) Measuring
(4) Hypothesizing
In the context of EVS pedagogy, all
of the following are desirable
practices, except
(1) nurturing the identity of the
child

(2) acknowledging the superiority of
textbook knowledge over actual
observation

(3) promoting plurality of texts and
contexts

(4) building capacity for critical
thinking and problem-solving

Mahesh, a Class IV teacher, plans to

sensitize the students to the concept

of ‘conservation of trees’. Which one
of the following activities is most
suited for this purpose?

(1) Motivating each student

adopt and nurture one tree

(2) Encouraging students to partici-

pate in poster competition

(3) Making teams of students for

group discussion

(4) Conducting a debate competi-

tion

to

24

62.

63.

I
gﬁaﬂ%%ﬁ%mm%ﬁ
4t amwwwmé%ﬁﬁn%fﬁaﬂﬁ
¥ 'Szn-i? ygEu FEE F S
S ?

(1) =R

(2) AFAIHA

(3) HTH

& F dedf #|
gt ez % fan-ue H H,
e &, Freafafga aft aEHE

g £
(1) == i sfear (safee) I o

(3) urEu-Tgal 3 derdl fit wgear W
ECCIRC|

(4) TR o 3R awwn-wEyH
% fag gmar-gada +a3

Wl e IV F freres §1 9 ‘gg-dae’ f

Feuon R Rt it v s W F

fore s s #) Frafofas & @ S9-d@

T Tafafy 3@ e ¥ fog waifre sugmw

27
(1) T N F A9 3R IgHT N0 F

% fore v faeff Y s won

(2) WX a4 ffmm @3 ¥ R
et =t Srewfa w5

@) ¥ == & fau el ¥ wg
AT

(4) TR-faar wfmfa =1 smiem s
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64. In EVS, Children

learni Partj :
be;:;zg Crafts ganq aJEQ‘ ]ifly enjoy | 64, ygfaw A W, T fwwwen v
GRap, Ropreren F1 o # e B w9 X we
A' it I z(
B. it :)momOtes Peer IEarning e §,
. Chﬂdi)roves Social learning A, 7% GETE AT i agEn T @
; en T et T
respond w?&] °Mme happy ang B, g waA ik
their creati\fnthuSiasm when C. & a=t H IR R
appreciateq WOrkS  are Eioll %,g‘ag ga ¥ ¥ T IaE R
0. it U oft
; ::1 Promoteg discipline i A 3
3 ass In the D. @ we | A i AETd
| Select the correct - T fereq 81 gFHTI
1 () A Bandp (1) A, B34 D
(2) A, B and ¢ (2) A, BaAuC
(3) B and C (3) B3R C
4) A and D (4) ARD
65. fExPerimentation’ is one of the| ©5 ‘T wET e w Th '{ﬁb’dﬁ. .%l
n;dlcators of assessment. Which one frafaflaa # @ SH-61 T T
of the following is the most THaE B ER F H FAE I

appropriate  way of assessin SHEAR
experimentation indicator? ’ ¥

(1) Creative writing (1) GoRIeH TE
(2) Demonstration (2) Trei/veeH
(3) Hands-on activity (3) TR ferferfe
(4) Picture reading (4) Fe-ve
66. Students in primary classes have a | 99 mufs wened § et % T I
lot of alternate conceptions in many YT B ST Ao FUTONE T §,
topics like living-nonliving, water 3y —wefa-Frffa, sa-=s, 09 ikl |
cycle, plants, etc. The sources of Wﬁwaﬁ%@ﬂiﬁm%
these al.ternate conceptlc.)ns can be A GhER @
A. family and community B e T I TE
B. textbooks and other books :
C. teachers C. Wr
' : D. eI T e
D. stories and poems X
; fereed i]ﬁ"{i
Select the correct option. Hla PG el
(1) A B, CandD | (H & B
(2) ¥ A
(2) Only A N
(3) A and B (3) ASRB
4) A, BandD (4) A, BTND
P.T.O.
P-1/1 25 {
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67.

68.

69.

P-1/1

Glass jars and bottles are dried well
In the sun before filling them with
pickles. Why is it so?

(1) To remove the dust from them

(2) To remove the
completely

moisture

(3) To make pickles tasty

(4) To increase their temperature

Renu’s grandmother shows her a
dried-up well and tells her that
15-20 years ago there was water in
the well, but now it has completely
dried up. What could be the
reason(s) for drying up of water in
the well?

A. The soil around the trees, well
and nearby area is now covered
with cement.

B. A lot of boring pumps have come
up in the nearby area.

C. Nobody uses the well as there
are taps in everybody’s house
now.

(1) Only C
(2) Only A
(3) Only B
4) A and B

An egret sits on a buffalo, because

(1) the egret sits on the buffalo for
fun

(2) the buffalo helps in the
transportation of the egret from
one place to another

(3) the egret wants to scare the
buffalo

(4) the egret and the buffalo have
symbiotic relationship

26

68.

69.

& od o T @ g Ran T
sach 3 f 15-20 9 wea F4 & 0,

@m/%wmﬁm%/m%?

¥, oy I SATE-TTE % T A
A ﬁ@gmmﬁzﬁﬁﬂmw%l

B, oa-arg 3 ge i aga W) s
ks d

C vdw wafe ¥ oW H @ WA F
o S ot 1 S T @ R

(1) %ad C
(2) Fad A
(3) ¥ B
4) A3 B

e 9 W Y3 B, Fih
(1) SN wHReH & e S w de@ @

(2) 99 TR F TH WH ¥ TR WA TF
HA-SM § 7eg FA B

(3) e %\ H ST T
(4) e TR S wEsE W dey R

|
|

A
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70. Which one of the followin

; g is n
function of roots for the e

plant?
(1) To provide humus

(2) To give support to the plant
(3) To absorb water and minerals
(4) To store food

71. Consider the following statements

about Karnam Malleswari :

A. She is

a weight lifter of
international fame.

B. She is from Karnataka.

C. She has many records to her
credit. She could lift weights
up to 130 kg.

D.

She started lifting weights when
she was 12 years old.

The correct statement(s) is/are
(1) A,Cand D

(2) only A

(3) only A and D

(4) A,Band C

72. The following are some statements

regarding step wells or Baolis :

A. They are a traditional system of
water storage and conservation.

B. They were used as a community
resource.

C. They are found/ constructed
mainly in rain-parched States.

D. They contain only contaminated

water.

Which of the above statement(s)
is/are correct?

(1) A, Band C
(2) Only A

(3) Only D
(4) A and B

P-1/1

canne canner

27

70.

T1.

T2.

Frafafen & & w5 & - = a0
foe =€t 7

(1) THE UTEY AT

(2) 9w "W I

(3) & a WS w1 srawie we
(4) e sTErw /wid wen

w0 TRvad % fmm § IR Ry mw s
R foam ffRT

A, 98 FUEE EAG-WE WRmEE
(32 faw) R
g FAIEH H

I W T aga-d fEE s R
& 130 kg e FI R 331 TRt At

39 g8 12 9§ & ff oft @ ;! WR
I3 1 anarE HE at ot

T wH B/E

(1) A, CTID

(2) %A A

(3) =@ A 3 D

4) A, Baa C

B.
C.

D.

R i o T (I N wEd
frfafaa g Fom Ry E

A J v VERT @ GEW H IR
e B

B. WA B % 9§ I S Bl
o

c. v fin germ: awi-tea T A
B B

D. 39 %aw Gg0d i B 8

I & A H-W /A T R/
(1) A, BaaC

(2) ¥ A

(3) ¥« D

4) ARB

[ BEO.

/ 1
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https://gv

78 Worli' is a traditional art form. The

74,

75.

1

canned by

Place ‘Worli’ is in the State of

(1) Odisha

(2) Rajasthan
(3) Bihar

(4) Mah arashtra

The neighbouring

. States
Tamil Nadu are

of

(1) Kerala, Gujarat and Karnataka

Andhra Pradesh,

Goa
Karnataka

and

(3) Goa, Karnataka and Kerala

(4) Kerala, Karnataka

Andhra Pradesh

and

Which one of the following has the
sense of hearing so sharp that it can
make out the difference between the
rustling of leaves and the sound of
an animal moving on the grass?

(1) Vulture
(2) Silkworm
(3) Dog

(4) Tiger

28

Y

canner

73.

74.

75.

TN T R e 1 R 21 A
TS WH o 537

(1) snfem
(2) TSRIH
3) f=r

(4) WEHIg

ety % Frebead /adiuadi 1o §
(1) ¥, T 3 FAfew

@) s s, Ao e e
(3) Tiam, wAfew i I

(4) ¥, HAleH 3 any w2y

Frefafan # & foadh g 6t v =
e 2t ¥ w9y A e F R
Wi R W R SR $ wen
T § It g 27

)l
ED|
(1) firg

(2) TW = fiw

(3) F

(4) ==

t
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76. When

one |

Ahmeda S travellin

com bad to Keral, b g from
€8 acrossg man Y & train, one

tunnels are in the Yhitl‘f;zi’ls- These
(1)

(2)
(3)
(4)

Aravallis
Western Ghats
Eastern Ghats

Vindhyachal

7. T i
7 he earth is round. There is actually

no ‘up’ ¢ ;

i - P and ‘down’ on the earth and
3 Just relative. We, the people of
rnI a, actually stand upside down in
elation to the people of

(1) Libya
(2)
(3)
(4)

Algeria
Argentina
Alaska (USA)

78. It is advised to put oil on stagnant

water to prevent breeding of
mosquitoes. This is because

(1)
(2)
(3)

mosquitoes are repelled by oil
mosquitoes are killed by oil

mosquitoes get stuck in the
layer of oil

off oxygen supply,

oil cuts
breeding of

thereby stops the
mosquitoes

(4)

Which one of the following insects
does not live together in 2 colony

like honcybees?

79.

76. 4 F1E =AM ¢ T FATEER W FA BN

AT A B, d9 A8 IFAF G H AR TN
HER:0 el ® ¥

(1) e
(2) wfwnfl =@
(3) et 9w
(4) favm=a

/4

e — T

(4) sTemER (Fo THe To)

¥ form R T

78. TSt ¥ WA P AFAW
& o BT

® AA oA H TR
FafT §,

(1) q’ﬁ;ﬁﬁﬁamﬁmﬁﬂmm%
2) TR A T W

(3) qﬂ{ﬁﬁﬁﬁﬁ%ﬂﬂﬁ%

o, P & 3 - He mpEEe &
Wty Fe (F=d) d T W

(1) Ant

(2) Termite

(3) Spider

(4) Wasp
P-1/1
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80. The structure of houses in rural

" rem) A %
area js linked to the clxmapc ( o frg Rg @
conditions in which they are built. F HeAT - HH"TG' * @il | 4 B 21
There is a village where houses have e HHM ASEa ™ -~ éﬁi %)
following features : F +ft g e ad .
* Houses are made on strong o HA PON— m.a 3.5 mgiﬂé
bamboo pillars. o THHA SHA
* Inside of houses is also made of o B 2l
wood. . m@gﬁm@?ﬁ%"
* Houses are made almost 3 m to Tfa
3:5 m above the ground. 7fz 3g nfg § Wit Fui &t &, @ T
* Roofs are made with a slope. g T § o 9TRe?
If in this village it rains heavily, the -
village should be part of pk}
(1) Uttar Pradesh (2) T
(2] Rajast_han (3) ﬁ‘iﬂ'{
3 '
(3) Bihar (4) ¥
(4) Assam

81l. ‘FgF Fal & wmt Y wrr 87

81. Kuduk’is a language of the people

of (1) Wi
(1) Manipur (2) TS WM
(2) Arunachal Pradesh (3) REve
(3) Jharkhand
(4) Tosiry
(4) Mizoram

82. W wew=al Hit w@n, 2005 ¥ HIER
82. As per the NCF, 2005, which one ’ ,

Aoy the following is the theme of maé ?ﬂi’?;;: TF TR e
(1) Solar system (1) Hrores

(2) Weather (2) Hrem

(3) Energy (3) =t

(4) Food @) v

P-1/1 e
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83. Whi
thelg?r Oilne among the following is
gest argument in favour of

adoptin
i sl?p g a theme-based approach in

1 »
(1) ::1 helps In making teaching
Ore interesting and activity-
based. Y

(2) It helps in covering a wide range

of concepts, issues and skills.

II:,t helps. in softening subject
k:lcrjluru:lanes and accessing
owledge holistically.

it helps in giving a structure
o le_sson plans and makes
teaching more effective.

(3)

(4)

84. Stories are an important aspect of
teaching-learning EVS in primary
f:lasses‘ Which one of the following
is lea.st appropriate reason for
including storytelling as pedagogy in
EVS classroom?

(1) Stories

cut across various
subject areas.
(2) Stories help in class
management.
(3) Stories provide contexts to

relate EVS concepts.
Stories include experiences of

(4)

the people.
85. The content in an EVS textbook
should
A. avoid descriptions and
definitions
B. discourage rote learning
to the

C. provide opportunities
child to question and explore

D. give only written information to
the child

Select the correct option.
(1) B and C

(2) Only C

(3) A, B and C

83. uataw sywr # fwm-asg (W) -snua
g 1 SR wwea A Refafaa # @
-7 TF gaw A qww 87

nfaff-enuTia s § HeE w1

L B
s dyoter # §F B WE FA J AR
T 21

(4) agm-maﬁﬁ@ﬁmwﬁ
A e @ s wwEh e
e T B

84. Wl wemell # G TR w
frR-diE # wabEl T W e,
3| e mR % HA-FA A FEE
TR B Rem-Ave % w9 § afE
ﬁ%mmmﬁ%m-mm
W IUGh I 87
(1) R see fm-a #
(2) et e S § e w
(3) e wate SR AT 3
w e ¥ fa wed I
T 8 |

(@) watE § =fE F g Rl
B &)

e SRR el g 1 g

85.

=1

e =ieg
D. T2 F ¥uw fafgd TR § S

I
w8 forpe = g
(1) B3R C
(2) %@ C
(3) A,/ BANC

(4) A and D

P-1/1
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86. Which one of the following
statements about assessment

procedures is least appropriate?

(1) Preparing a list of learning
indicators and sub-indicators

makes the reporting more
detailed.

(2) Remarks like ‘fair’, ‘good’ and
‘very good’ give an under-
standing about a child’s
learning.

(3) Portfolios of children should not
contain only their best work but
all kinds of work.

(4) Giving personal details and
individual feedback to a child is
a desirable practice.

87. Read the following  question
carefully :

“Have you ever seen animals around
your house or school that have
small babies? Write their names in

the notebook.”

Which process skill is assessed

through this question?

(1) Hypothesis and experimentation
(2) Concern for justice

(3) Observation and recording

(4) Classification and discussion

88. Interdisciplinary nature of EVS
addresses environmental issues by

using the contents and methods of

(1) social science and environ-
mental education

(2) science ,
and

(3) science, social science
environmental education
(4) science and social science

32
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87.

88.

2 ﬁmﬁm‘f’ = F @@ &

(4)

anard 21

‘g T A WU A TR 6 -0
%@ﬁﬁﬁ@éﬁﬁ?mm

# g% m fafae)”
@y F wem @ e T SN H

e fapa T 27

(1) TREFeaT T T BT
(2) = % g W
(3) 3racireA & eireT
(4) afietor ot ==

e segEa i smfawht el

e gt # T EEia

Eacild

(1) i e o wiew foan
famg-aeg ok vgfd % W

(2) Togm & frvg-ag i vgfa & wm

3) fagm, wmifee fagm o wfew
firgn < fywa-awg o ggfo & wim

(4) fagm 3 gmrfors fagm 6t fawg-ag
3R wgfa & wam



89. The teacher of Class v-a gave the 89. FNl V-A F e vw vama 23 ¥ .
question

A. T2 % gfa = fafan

A.  Write five advantages of trees.

i ol % V-B & few P mam za 2
While the teacher of Class V-B gave

the question : B. TN EM AW 9T WAL T A A7

B. What would happen if there o wATe 1 uFE w27

Were no trees on the earth?

N

What is the (1) A g 4 aren, Ahmar 2 3 B 78

nature of these

questions? A 3, ST #
' (1) A is [OPen-ended, convergent (2) AT #a S ’E- i A
and B is close—ended, divergent Ad 9rel, ?
(2) A'is open-ended, divergent and (3) A 7@ ¥ Fren, wwEr @ ¥ B 0%
B is close-ended, convergent a =ren, b @

3) A 1:s closc-endcd, divergent and
B is Open-ended, convergent

(4) Aag:ﬂ.?{m, ﬂﬁmﬁ% ﬁTB-EFﬁ
i aren, sreErd ®
(4) A is close-ended, convergent
and B is open-ended, divergent
90. w&m 1 # wafgww srwmm # foanfiEl *
IMHeA & Jn ° fafafae @ @ F9-wm/3

90. Which of the following is/are true e B/7
about assessing learners in EVS in
Class 1? A. iew whard, FifE @ o 2

= fore ¥ wem 9 &

A. Oral tests, as children may not
be able to write

B. o@m, i s=t # @i IH=

B. Drawing, as children enjoy it T 3
C. Teachers’ observation and C. T 1 staeie o ferifén
recording ‘ o
D. ‘Tl & 7 0% AfY’ = o ¥ v
D. There is no need of assessment TV 3T i FE TR A 3
in view of ‘no detention policy’
(1) =@ D
(1) Only D
2) A¥RB
(2) A and B )
(3) C and D (@) cmD,
(4) A, Band C (4) A, BTAuw C
P-1/1 33 [ P.T.O.
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PART—IV
Language—I
ENGLISH

. Part—IV (Q. Nos,
IMPORTANT : Candidates should attempt qucsuonsl f;grll;‘.
91-120), if they have opted ENGLISH as Language—

Directions . Answer the following | 94. Which one of the following is tp,

i torytelling?
i . t important about s g
Questions (Q. Nos. 91 to 105) by selecting mos e st
the correct/most appropriate options. (1) It enhances gra p n ang
structure.

whole langyy,
91. Which one of the following is (2) :ppfngllftes Siage

the most important prerequisite for . '
language leaﬁninagg preéreq (3) It is an effective way of learnmg

i : vocabulary.

”) i‘llzt I:It;gilangl: ts;n «}:i)collz_z:rtlltves . (4) It broadens their knowledge

about various authors.
(@) Providing a good textbook to

children to learn the language 95, Dictation does not help learr]:rs to
_ i ding skill
(3) Using structural-situational e s the?r rea11‘ ;
approach while teaching (2} dmiprave Tk Speug
(4) Children’s motivation to learn (3) enhance their listening compre.
the language .

(4) increase their concentration
92. A teacher asks students of Class III _ '
to describe their best friend. She 96. An English teacher after completmg

writes the students’ responses on a chapter from the tl:clextbo;ﬂ: asks
the blackboard. At last, she states questions based on the text to
that all these describing words (1) keep students busy as the
on the blackboard are adjectives. chapter is complete

This is

(2) attract students’ attention
(3) know their comprehension
(2) Inductive method (4) maintain class discipline

(1) Incidental method

(3) Deductive method 97. Shreya, a teacher of Class v,

: asked the learners to complete the
(4] Immersion method dialogue in the given boxes and
) ) then to role-play the same using
93. The rise and fall of tone is their dialogues. She is developing
(1) Pronunciation (1) a1, listening, writing, reading
and speaking skills
(2) Stress - : ,
(2) listening and speaking skills
(3) Strain

(3) reading and writing skillg
(4) Intonation 4) speaking and writing skills

P-1/1 34
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98. Which one of ¢

99,

100.

101.

he following cannot

be used ; .
ed in formative assessment?

(1) Olympiag

(2) Retelling Stories
(3) Role play

(4) Debate

';‘Eizliléng—Learning Material (TLM)
be used by teachers as it
(1)

motivateg learners to further
Prepare such material at home

Supplements teach
Process

(2) o .
g-learning

(3)

Prepares students

-k mentally to
Sit in the class 4

(4) is not very expensive

While learnin

g English as a second
language

(1) !:here is no role of mother tongue
in learning L2

(2) the use of mother tongue will
facilitate learning

(3) the use of mother tongue will
create interference

(4) the mother tongue should not
be used by the learners

The process
a language
conducted

(1) for assessing the textual
exercises at the end of the
chapter

of assessment in
class should be

(2) to know the level of students

(3) to

(4) during the

P-1/1
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in the class

know the efficiency
teachers in teaching

of

teaching-learning
process

102,

103.

104.

105.

35

As per the National Curriculum
Framework (NCF), 2005, multi-
lingualism in learning a language
should be seen as a '
(1) challenge for teachers
manage such classes

to

(2) hindrance in teaching-learning
English

(3) resource in teaching-learning
English

(4) challenge for students to learn

many languages

The most important factor which
is responsible for the differentiation
between language learning and
language acquisition is

(1) grammar of language

(2) assessment in language
(3) textbook of language
(4) language environment

Which one of the following is
an essential characteristic of a good
textbook in English?

(1) Every lesson should have
a proper introduction at the
beginning and a conclusion at
the end.

It should be based on the
guiding principles of curriculum
and syllabus.

No difficult words should be

given in the textbook at primary
level.

The maximum number of
textual exercises should be

given to practise at the end of
the lesson.

(2)
(3)

4)

The maximum participation of
students is possible while teaching
English by the teacher using
authentic tasks through

(1) communicative approach

(2) grammar translation method
(3) direct method

(4) structural approach

[ P.T.O.



106. The author could reduce pg

Directions : Read the passage given expenses by half by

below and answer the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options. (1) renting rooms close to his office

As I kept strict watch over my way of living,
I could see that it was necessary to (2) travelling in a bus
€conomize. I, therefore, decided to reduce
My expenses by half. My accounts showed
1'_1u.merous items spent on fares. Again, my (3) cooking his own meals
living with a family meant the payment of
a regular weekly bill. It also included the o & ¢
courtesy of occasionally taking members (4) having only one meal A qay
of the family out to dinner, and likewise
attending parties with them. All this
involved heavy items for conveyances,
especially as, if the friend was a lady,
custom required that the man should pay | 107.
all the expenses. Also, dining out meant
extra cost, as no deduction could be made
from the regular weekly bill for meals not
taken. It seemed to me that all these items
could be saved, as likewise the drain on
my purse. So I decided to take rooms on my (2) Dining out
own account, instead of living any longer in
a family, and also to remove from place
to place according to the work I had to do, (3) Entertainment
thus gaining experience at the same time.
The rooms were so selected as to enable me
to reach the place of business on foot in (4) Meals
half an hour, and so save fares. Before
this I had always taken some kind
of conveyance whenever | went anywhere,
and had to find extra time for walks. The
new arrangement combined walks and
economy, as it meant a saving of fares and
gave me walks of eight or ten miles a day.
It was mainly this habit of long walks that (1) work longer and harder
kept me practically free from illness
throughout my stay in England and gav
me a fairly strong body. r (2) save money on fares

constituted a major part of
the author’s expenses.

(1) Fares

108. The author’s choice of his new
residence enabled him to

Thus I rented a suite of rooms; one for
a sitting room and another for a bedroom.
This was the second stage. The third was

yet to come. (4) be close to his friends

P-1/1 36
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109. What gave the author a fairly strong

110.

111.

P-1/1

body?
(1) Self-discipline

(2) Nourishing food

(3) Long walks

(4) Yogic exercises

The steps taken by the author to

reduce his expenses show that he
was

(1) always short of money

(2) saving money for emergencies

(3) miserly

(4) frugal

The word ‘numerous’ most nearly

means

(1) many

(2) goodness

(3) politeness

(4) enormous

37

canner

112.

113.

114,

The word which is opposite in

meaning to ‘courtesy’ is
(1) vulgarity

(2) immodesty

(3) rudeness

(4) aggression

Which ‘part of speech’ is the

underlined word in the sentence
given below?

“I decided to reduce my exXpenses
by half.”

(1) Adjective

(2) Adverb

(3) Noun

(4) Preposition

“The new arrangement combined
walks and economy.”

The %oice’ in the above sentence
has been correctly changed in

(1) Walks and economy are
combined in the new
arrangement.

(2) Walks and economy were
combined in the new
arrangement.

(3) Walks and economy have
been combined by the new
arrangement.

(4) The new arrangement had

combined walks and economy.

[ P.T.O.
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Directions Read the extract given
below and answer the questions that
follow (Q. Nos. 115 to 120) by selecting
the correct/most appropriate options.

How soon hath Time, the subtle thief
of youth, (1)
Stol'n on his wing my three-and-
twentieth year! (2)
My hasting days Sy on with full career,
But my late spring no bud or blossom
shew’th.
Perhaps my semblance might deceive
the truth
That I to manhood am arriv’d so near;
And inward ripeness doth much
less appear,
That some more timely-happy
spirits endu’th.
Yet be it less or more, or soon or slow,
It shall be still in strictest measure ev’n
To that same lot, however mean or high,
Toward which Time leads me, and the
will of Heav’n:

115. The poet presents Time’ as a/an
(1) spirit

(2) friend

(3) thief

4) enemy

116. The poet regrets that

(1) his teachers are not happy with
his progress

(2) his academic progress has been
very slow

(3) he is not popular with his peers

(4) he has not
maturity

attained inner

P-1/1
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117.

118.

119,

120.

——

The poet envies his friends, because
they

(1) are popular with their friends
(2) are blessed with robust health
(3) have attained inward ripeness

(4) have achieved name and fame

The inner maturity the poet longs
for will come

(1) with the help of teachers
(2) by the will of God
(3) through hard work

(4) with the help of peers

The poet is ____ about his future,
(1) unconcerned

(2) cynical

(3) optimistic

(4) pessimistic

The figure of speech’ used in lines
1 and 2 is

(1) a hyperbole
(2) an irony
(3) a simile

(4) personiﬁcation



S
&=
TE : T W1V (30 Ho 91-120) ¥ l ¥ I e WA § AR IEA ww—1
I;Wﬁﬁﬁﬁma‘n )
fj‘}'m:ﬁ% ﬁq““‘?ﬁ(m Wo 91-105) ¥ | 94. fufaa wrn o wdm
g I ey =
e (1) e @t % fore & frn s @
91. WMl gy
SRS (2) o st & fo frn s @
(1) m-ﬁéﬂéwaﬂ(‘gqqm

92.

93.
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(2) T 6t B gHE g
(3) 319 T i 7 w7 g

(4) s feafa & wrar 51 e @ g

Yl % e s ¥ we ) we
i Bt }1” 7 R frae 37

(1) feew
(2) e
(3) dTEIeEht
(4)

frenfefat &1 e fw wnma € @ 6,
To% foT @ 3ugsh STgvin gt

(1) s s ¥ fafe sl $
(2) W TS SAYH IATeheH Hl

(3) wetege wa-geH A

(4) T TF T % AT H

39

95.

96.

(3) aet W gom % forg, e S &
(4) e wfe-orad & for e S @

i ) e § e Qe S
H@!ﬁ:

(1) STeheH 1 T T

(2) e iR e AT R

(3) STEATH ¥ HW P WA A &

(4) v drey f oafEm § wnias
iGN

Fhar-FefE | =9 H9 W T B W
£

(1) FeaTefierar i rqur FHTT A6 R
(2) W HEd F ATHA FA S 2

(3) wifeed % Wig s=at i ¥ SO HT
2

(4) v i fafim s w1 e w
2
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T e—————— L“ b I.“‘ .

e & weram)
(1) wrfeer
(2) w9
(3) ferenem
(4) wfEn

98. Tt wmaeh wam § W-wm wom -

Rreror 3 frgidt % orgger 47

(1) a=F o srgvat ¥ amum @ wrqy
Fam & =

(2) w1 Frerer & waw aifia 9 st 2

(3) = & et w W - freg
it it =i e 21

(4) fe-wgg méte ww @@y § wee
Excid ]

99. Wuftd w W il ¥ wor-fnao %

P-1/1

w # HH- o el 27

(1) o= wgg wits wRaw & 9ew &9
W 99T § GUR W G E

(2) =1 A 9o Fwewel ok frem
& wE ufRw ¥ RunieR am
e ¥ weg #a 2|

(3) == w1 A Wfew v gyg w

&1 T fermrers 7 # arfvfa @ §)

(4) Wad ¥4 8 & 9 e Rl w

3T Y W97 He § oY 39w
Fd 8l

40

100.

101.

102.

muﬁzﬁwaﬁtmwﬁfw~ﬁanﬁ1#
gom &t feufa S 1 e
vt fererra 3 wf A

(1) sy @ e w2

(2) g F o = o

(3) s daA & w0 A wA R
(4) e T F w9 F A A R

TReht Ha H A AAEH I wm
fyeneff % smaé fopre % wew # fafow g,
EC D

(1) fremeff @ W W @@ FH F 9g ay
s e &

(2) Trmefi % W 3R fr i wrgmn
- B

(3) Fereneff a1 Wit & =ga gorean ®

4) foeneff weq-urew § R weRfa =
FA R

T F Ao drEy F el § - Fm
ad@ ’7?

(1) =3 ufEr & s=9t N ‘e’ Gra) R

T T Bl R

(2) ﬁﬁw&aﬂﬂmaﬁﬁ‘m’

e i nfe e Bt 3

(B) F-GW F afmE A R sm
ﬁﬁmﬁmmﬂm@%%l

@ ® =R D R

THAH Breft R )
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whw e
FIHF FY % Ry s
(1) ew =t Fmmy w

2) Tew A -yt % e
T

(3) FaTHH F e w
(4) IR F e w
105. v faerff we & s wdm/amiRE
Y= % 31 9w, 9% o ang
(1) wreeehrer a1 Rramdh
(2) =2 &1 3 forge srardht

(3) s & e # ardf wwe A AT Ay
Fft

(4) W8 & 3fg & Ry m ‘v’ I F
fore @t

f-ﬁw_: 9 Ru mmw A vew @ o
¥ Ho 106-114) & Wl /AEH I4Gw IW T
fempen =1 gfim)

LU O i T T
W 8 ot Ao g e T 2 @ A

ot Afe @ e b T @ A7 ' o 9
TG 1 UG B7 A S UgE et 52
# & 7 Rum R @1 oefiR? R T owe ¥
fore g = de w0 27

w6, oM T e F v HA s
T2 @ B o R ga ot A 7t el ot

at o, R oft, W g7 | 9% Qu-Sa-ad|
G A A1 A TR ¥ 9e daTl o v
Ted W W o T @ @ A9 R} @@ R
THed B 6 W @Y F srema o sneim? R
I N [ F E FE B B, 3R Fem A
AT TR el S|

D ¥ T @ ot F e Qe ot 7€ s
FE A AT H I W Y @

A—"SFRW B ... IR W ...
IATHE & g 1. e #.,"
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